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10 4, .86-0.90
10 5, 0.85-0.97

0.57-0.86

41.17")
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10 7, 0.10-0.16 5.0-8.0 0 —
10 8, 0.10-0.14 5.0-7.0 0 —
1 2.0
4.3-5 - BAL: mg/m’
A /N E;JE\ i (%) (%) | /M & &
\ N\
\
10 3, T.OX10 — — —
10 4, <1.5x103 — — —
1#] hk Ak
(E122°58’ 5528",| 10 5, <1.5%1073 — — —
N41°7’ 41.17 ")
10 6, <1.5x103 — — —
10 7., <1.5%1073 — — —
10 8, <1.5x103 — — —
10 2, <1.5x103 — — —
10 3, <1.5x103 — — —
e — I 10 4, <1.5x10°% — — —
UN ( E122°58 '
10 5, <1.5x103 — — _
132 ", N41°8 '
203") 10 6, <1.5x10° — — —
10 7, <1.5x103 — — —
10 8, <1.5x1073 — — —
1 0.2
4.3-6 BAAT mg/m?
A AN B i (%) %) |/ A &
\ N\
\
10 2, <1.5x103
10 3, T.OX10 — — —
1#] hk4b
(E122°58' 5528 ", | 10 4, <1.5x103 — — —
N41°7" 41.17 ")
10 5, <1.5x103 — — —
10 6, <1.5x103 — — —
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0 7, <1.5x1073 — — —
10 8, <1.5x1073 — — —
0 2, <1.5x107 — — —
10 3, <1.5x1073 — — —
24— gl 10 4, <1.5x1073 — — —
w ( E122°58 '
10 5, <1.5x107 — — —
132 " N41°8 '
203" ) 10 6 N < 1.5><10-3 - - -
0 7, <1.5x1073 — — —
10 8, <1.5x107 — — —
i 0.2
4.3-7 B mg/m’
B /J\\\gt-“zﬁ = (%) %) |/ H 5
\ N\
\
10 3, T.-O%10 — — —
10 4, <1.5x1073 — — —
1#] hk Ak
(E122°58' 5528 ",| 10 5, <1.5x107 — — —
N41°7' 41.17")
10 6, <1.5x1073 — — —
0 7, <1.5x1073 — — —
10 8, <1.5x107 — — —
0 2, <1.5x1073 — — —
10 3, <1.5x107 — — —
29el— I 10 4, < 1.5x103 — — —
w ( E122°58 '
10 5, <1.5x1073 — — —
132 " N41°8 '
203" ) 10 6, <1.5x1073 — — —
0 7, <1.5x1073 — — —
10 8, <1.5x1073 — — —
1 0.11
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